PRIKLADY K PROCVICENI PMP 3

LOGARITMICKE ROVNICE
Reste rovnice:
Pi 1) a) logs(x+5)=Ilogz(2x—1) b) logs(1—x) =logs(x+16—x?)
c) log;(1-2x)=1 d) log(x—2)=0
e) log(x-1)%=0 f) 2logx—logx =3

Pi2) a) log(x —1) +log(x —2) = 3log2 + log(x — 2)
b) log,(2x—3)—log; x =log, (x—3)
c) log(x+3)+log(x—3)=log(x+11)

Pt3) a) logz(x+1)+logs(x+3)=1
b) log,(x+2)+log,(x+14) =6
c) log,(2x+5)—log,(x+1) =1
d) log(x—3)—log(2—3x) =1

Pi4) a) log(x+3)—log2=1-log(x+2)
b) log(x—2)—log(4—x) =1-log(13—Xx)
c) 2-log5=Ilogx
d) log(x—9)+2logv2x—1=2

Pi5)" a) (logs;x)* —log; x+2=0
b) (log, x)* —3log, x—10=0
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